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Part 1: Multiple Choice Questions (15 marks)
Complete each multiple choice item and place your answer on the Answer Sheet

provided.
1. What is the measure of this rotation in standard position?
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2. Whatis 620° written in radian measure?
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3. The length of an arc subtended by a central angle of 80° is —22—” What is the
radius? -
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4. What is the equation of a circle with centre at the origin and passmg through the

point (4,3)? 2
A) *+3y7 =45 x+g E JC-{-% -":o'l{'
DD S

B) X4y =5 2

) x4yioas 16+T=7

D) x* + % =625 Qs =1~

5. Point P(x,—g] lies on the unit circle in Quadrant lll. What is the value of x?
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6. Which angle, in standard position, shares the same terminal arm with 157 ?

A Z
B) &

o1 /P =

D)z = \J3.




11.Solve for x; csc’@=4, where 0°< x <360°.

2
A)} {30°,150°,210°,330°} cse ©@=H
B) {45°135°,225°,315° | -k
C) {60°,120° <in3@
D) {240°,300°
) {240°,300° sm"@r--j—
LF
=n@=7F
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8. Given P(—5,—6) are the coordinates on the terminal arm of an angle @ in
stansdard position, what is csc8? 4‘. .;L: < _1+ GJ.
A 5 5 gy = 25+30 CinO = -6
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9. Which pair of angles are coterminal?
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10.A rotation of 4 gives a terminal arm in quadrant IV and cos @ =—‘§. What is cot@
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12.Solve for 8 cotéd-1=0, where 27 <x<2r.

7)) cot® —1=0

4° 4 744
cot® = \
B) {371 77:- —5%}
47474 4 . Jme"
C) {3_”,_7”,£,ﬂ}
47 474 4
){_%z”izr_
4 74744

13.In what step does the first error oceur in the solution:

2cos’@—cosf-1=0, 0°< 8 <360°
STEP 1:(2cos@+1)(cos#—-1)=0 . 2.cos@ +1=0

v < 2cos 6 =~
STEP 2: cos@——z—, cosf =-1 cos@ = ,ﬁ

STEP 3: 8 =cos” ( 1] 6= cos‘l( 1)

STEP 4: € =120°,270°

A) Step 1

Step 2

C) Step 3
D) Step 4

14. How many solutions exist for the equation sec & =1within the restricted domain

Oe(27,27]? ~ game &S I L @£ a2
A) 1

(B) 2 sec@ = |

C) 3

D) 4 00159:\ ‘L )

CosG = |

{o)sﬂ?}

cos@—\ =0
cos@ =\
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15. Solve cscd=-1.468,0<6<2xr . ~_ V\O’\'ff«- rg,skckm - DV\‘? Fog. QNSWE'S -

A) {-0.78,-2.36}
B) {~0.75,-2.39 9
C) {3.92,5.50} © <3
Ry ~6.75 % s
{3.89,5.53} s = 2T~ 0
V4l
0.75 3 _
CSC@: —_ ),LHﬂg’ O,7§
\ l’&t‘&féx/rex an?lc.-
| 468 \
sin@
\
sin@ = ~1. ‘-[-bg

sin@= —0.b¥1Z
@_; SIV“\ (_O,bg]g)) = —0.75
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Name:

Part I: ANSWER SHEET

1. @ 2 € 3 3 4 C 5 D
6. C 7 C s C 9 B 10. D
1. A 122 A 13 R 14. R 15. D

Partll:  CONSTRUCTED RESPONSE

Complete each item in the space provided. Be sure to read each question carefully and
provide all necessary details as part of your solution. (15 marks)

1. Given that the point P(?—%} lies at the intersection of the unit circle and the

terminal arm of an angle in standard position.

A) Sketch the diagram (1 mark) \

o,

Us
K P(
B) Determine the values of the six trigonometric ratios (3 marks).
- ! ton@= —% _ _| 9.——_]_.\]/3-
== anb= "2 _-L.= = R
sin® F e © o U
e

Cos@ = @ €sCO = secc@ = _;\l'% % : ao‘\’@ -——

C) Determine the angle of rotation in standard position (1 mark)

'"—\ © = 3L0°-20°= 330°
%
\&2 P(\F .-,

B
|
=
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cot(—g]+cos(—1—}3—7z] \ﬁ% + j‘i
2. Find the exact value for the following expression: 050 (240°) = ‘%{2
3
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3. Solve the trigonometric equation where x ¢ [-27z,27]:
2cos’ x+5cosx—3=0
(ozcosi — l)(c@sx +3) =0
.Q_COSDC_,:‘O cos X.+3=0
GQCOS)L = ' cosxX = — 3 l
i‘mtossi ble -
T s T - _s:ﬂ‘}
x=773> 2> 2?2 3 §




